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% f R - IRt B B = B = & B =

BRI ‘ 8,749,036 + 99,064 . ‘ 8, 848,100
EEAGE . 8,749,036
EERE : 99,064
ZOMEE 8,749,036 x 53.85% ( 35% : (1 = 35%‘) ) < 4,711,355
ZHRm 8,848,100 + 4,711,355 - ' . 13, 550, 455
—REEEE . 13,559,455 x 53.85% ( 35% - (1 —35%)) — 1,221 ° : 7, 300, 545/

xBmE 13,559, 455 '+ 7,300,545 . .~ 20, 860,000] .

HEMSHEE | 20, 860, 000, x 10.00% . _* 2,086,000 -
EZ =3I 20, 860, 000 + 2,086,000 . . v 22,946,000
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& b _ R - IR B % = B @ & # B E
EERE 8,848,100
B 8,848,100 -
EEEE 8,848,100|
BEEALE 8,749, 036
EEAGE 8,749, 036
1 BMESMERTRED - BB . 36.00 72,516 - 2,610,576
I= . ‘
2 BITREEE Q9 - BE KiiREFMESE | 7.00|. " 136, 856/ - 957, 992
' : I= .
3 HITREEE DS - B8 MBIREHTME IR . 17.00] . 63, 436| .~ 1,078,412 .-
4 EFTMIBBEORKE - 28 - 33.00] . - 40, 430|. - 1,334, 190
I=
5 REFMEE QMR - BE . 33.00 33,638 .- 1,110, 054
I= .
6 BEELEEHOER . ) 33.00] . - 30, 764 . - 1,015,212
Is .
7 iTEHE ¢ 12.00|° - 45,900 550, 800
|
8 e |E 1.00 91, 800 91, 800
EERE 99, 064
EERE 99, 064 -
9 EFERAMRE X : 1.00 . 81, 064 ’ /81, 064
% -
10 ZEBERERE . ‘ 1.00 ) 18,000 18, 000
" .
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E5:1 ]
B RESMERER - & IE (101T%)
£ b B - ikTiE By = B £ B B =
EEm (A)
A 4.40 51, 200. 00 225, 280 -
HEn (B)
A 9.00| - 40, 600. 00 365, 400| -
HEf (C)
A 4.10 32, 800. 00 134, 480
= B {EZEHEH : 10.00TE 72,516. 00 725, 160] .
=2 .
& HMTREER OS2 - BE  HATIRRIMERSE - I¥E (101%)
% [z g - kT ==Xiv = B & 8 " =
HEm (A)
A 6.10 51,200.00 312, 320
Em (B)
A 24.40| . 40, 600. 00 990, 640
HEm (C)
A 2.00 32, 800.00] - 65, 600
= g 1E%EEH : 10.00C=E- 136, 856. 00|. 1,368,560 .
=13
£ BREEB O - BB BIAENIHMER IH IZE (10I%)
4 Lo g - BIKTE By = B & %8 iE &
HEm (A)
A 3.60 51, 200. 00 184, 320|-
BEm (B)
i A 10. 60 40, 600. 00| - 430, 360 .
HEm (C) . ;
A 0.60 32,800.00] - 19, 680] .
& & fEZERERN - 10.00T=E 63, 436.00| . 634, 360| .
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=54
&7 DEHER ORS - BE IZE (10TE)
& R \ Bk - kT E T y B E £ & I B =E | B =
HEm (A) .
A 2.80 " 51, 200. 00 143, 360|.
HEm (B)
A 5.70 40, 600. 00|, 231,420] .
HEm (C)
A 0.90| . 32,800.00| . 29,520|.
& B : {EZERERN - 10.00T= 40, 430.00] . 404, 300|-
=:5
&% : BINEFMEE ORE - B8 . . : IZE (10TE)
3 i B - kTR s Yy =2 B * HE FES B =
HEm (A)
A, e 2.30) - 51,200.00| . 117, 760] .
e (B)
A 4,90 40, 600. 00 198, 940| ,
HEm (C)
A ' 0.60]|. * 32, 800. 00 19, 680| .
=3 5 {E£8EH : 10.00TE 33, 638.00| . 336, 380
5:6 .
2 BESEEHOER - IE (10T¥F)
3 5 R - ikt E B H B E + == S : & =
HEm (A) .
A 1.90 51, 200. 00 97, 280
HEm (B)
A 3.00]. - 40, 600. 00 121, 800] .
HER (C)
A 2.70] « - 32, 800. 00 . 88, 560 -
=1 5 1E%8eH - 10.00T= g 30, 764. 00| - 307, 640
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= : 17
AF: fTEE [/ (1[a)
# 7 R - BIRTE ==Xiv = fii ) 5 " &
HEm (A) s
Kk 0.50 51, 200. 00 25, 600] .
HER (B)
X 0.50 40, 600. 00| - - 20, 300/ .
& i ¥e2he A 1.00E 45, 900. 00/ 45, 900
=:8
B %S - |E = (1)
% E g - IR ==X = i 38 i g &
HEm (A)
A 1.00 51, 200. 00 51, 200
HEm (B)
A 1.00 40, 600. 00 40, 600
= & VEZheH 1. 005t 91, 800. 00 91, 800
EF5:9 v ‘
At EFEARE ® (1K)
£ b G - BIRTHE ==Fivd 2 fifa 28 ] & &
EXERARE
=% 1.00 81, 064. 00| - 81,064|
& & Ye2heH : 1. 005 81,064. 00| " 81,064| .
BES:10
B EBERERE - A (1K)
# b g - kT By = i 38 it 5 &
XERABRERE -
=% 1.00 18, 000. 00 - 18, 000
& & YEZBEH ¢ 1,005 18, 000.00 18, 000




